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Death, which releases her from the possession of the father; is it not
justifiable that it releases her from the possession of the master

Overview

WP w1 maintains that an 7°72v77 7R leaves her master’s domain if her father dies.
He derives this through a 1"p. We know that 10 are not 28 mw n xxm,' and
nevertheless there are MR MW R°¥M,% so X7 Nn*», which is A& MW XXM,
should certainly be NI mMwan Xxn.

nooIn asks:
- S)ﬁN MY NN PRI N2AN MY ANININY NN “n91n 9NN ON)

And if you will say; 72w will disprove the logic of the 1'p; for 791 iIs ANXM
from the nA of her father, but is not 78°%1% from the N of her master.’

mooIN proves that 7917 is not NTR MWIN own:’
=99%2N N1 NP OTNR PPN PNIR MY ANIXIN NN INRT

For if 797 is 7R mwan AR no person will be willing to buy his friend’s

daughter for an 772y 70X -
= IR MY INIHND) 51921919 919 9nVY

For the buyer will be concerned since the father can bring her into 79117, and
thereby be 11TR N9 IROXA.

' When a girl gets her P10 she is a 773, and remains in the mwa of her father until she becomes a N2 (six

months later), unless she is married (a 7XW1).

> When an 7°72y77 72K brings N1 212°0 she is freed from her servitude.

? The heirs of her father (including her brothers) have no right over (the 77 7wyn of) the girl.

* 70w generally means that the husband and wife are now together (in one house). Once there is 7217, the woman (or
girl) is considered a X1, and her father no longer has any rights over her, even if she still is a 719p.

> The thrust of the 1"? (seems to be) that it is harder to be aX7 MwIn XX than to be NTRAT MW XXM (as 1IN0
indicate).Therefore wherever something is 287 mwan XX (like 7n°n) it should certainly be NRIT Mwan XX0.
However this is not necessarily so, for 791 is 287 MwIn XX, and nevertheless it is not NXA Mwn XX, This
disproves the contention of the 1"p that whatever is 2R MW7 XX is certainly 17X MW XX,

% Presumably this means that if she became married (became a 7X123) to someone else during the time she was an
7°72y7 AR, she still remains an 7272y 7% and her 7°7° 7wyn belong to her master, and not to her husband.

7 Seemingly we should say that 7197 is 7178 n1Wwa» AX°¥ from this very same 1"p. If P5°0 which are not nw n AR%M
aX, nevertheless are 77X MW XXM, so 1917 which is 2& MW AX°¥1 should certainly be 717X Mwan ARXMA.

¥ A father has the right to marry off his daughter (including 1"XW°¥/7971) while she is a mvp (the only time when she
can be an 1°72¥7 71X) even against her will. The father may sell his daughter for an 71°72v77 72K, then turn around and
marry her off to someone, causing an unfair loss to the 117X if 7917 is TR MWwAn Ax°x. This proves that 7917 is not
NIR MY aRxm. See “Thinking it over’.
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N1B0IN answers:
- Pyt NYN AR MY ARILIN NN 1Y NINY A1 MY Y

And one can say that this 721 can be refuted; do you know why 7277 is not

TR MWIn IROXIM since it is not a8 Nw=n a8°%I%, only with the father’s consent -
9799 Moya AN MYAN ARIINY NN RN NI MY NI NN 799

So therefore it is not NN7TR NWA% IX°XN; can you say that regarding 705 which
is 3R nwan RIxY against his will; therefore it can certainly be 3"va NIR mwn aRoX0.

Summary
We cannot refute the 1" by saying 1210 71917 for it is 28 MWM XX, but not XX

TR MWn, because 791 1s AR MWIM XX only MNyTH.

Thinking it over

If the reason why 7917 is not 28 MwAn XX is because then no one will buy an 71X
72w, how can we say "0 71931, since by 7911 there is a good reason why n1°x
IR MwIn ax°¥m, however this reason is not applicable to 1IR3 NNM; so it is not a
valid 8757?!"

? The logic of the 1"p is correct; anything which can be 28 MW 7X*%» can be NTR MR A8°¥M; however by fow it
is not really a8 NMwan AX°XN, since the only way she can enter 7917 is with the consent of the father; this X7 is very
weak. 71917 does not ‘overpower’ the father, since the father enables that there should be 7911. Such a weak 7x¥17
cannot be XX from the 117X against his will. However nn°» which is 28 nwan ax°xn is a strong x¥17, where the
father has no choice; he gives up his daughter’s rights (his heirs do not inherit her 121 77 qwyn) against his will;
such a strong 7RXY7 can be 1"Pn NIR MWIM X°X1 even against his will.

10 909 is 1N¥T7 2% MW AR°%M; how can you derive (through the 1"p) that it should be w115 5¥2 1178 MW AR°XIM?!

" Therefore it can certainly be 3"¥2 17R nmwn ARXN.

12 See footnote # 8.

" See xow mx AP one ma.
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